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(3) A
T - 1/PART -1

1o %@ Ud e/ CHILD DEVELOPMENT AND PEDAGOGY
B : Freflee ged @ auv a1 @ fou a8 afea A% ghTi

Direction : Answer the following questions by selecting the most appropriate option.

1. Prsirreen o aE # e 3§ 1. To cooperate the adolescent it is
IERLET 1 essential to
(1) sfeEen (1) Inspire
(2) Tl e (2) Indicate his mistakes
(3) A B (3) Criticise him
(4) THEOES TFET HAT (4) Do negative h-ehalviuur

2. UF qAE F MM e STHTE & 2. Which of the following is not a
gt 8 FrefaiEd ¥ $e-a iy suitable technique used by teachers
g e 7 | far socializing the child ?
(1) S R ‘ @ Ihiveci.iBathing

(2) TR ) Identification
(3) SeT=IE STHAEA a ﬂ dazmcmﬁc discipline

(4) - (4) Over-protection
3. uF P & @t & Ry A Prefofem 3. Which of the following is a wrong
Y a7 F FAA R Y statement about emotions of an
adolescent 7
(1) ¥ fef aftem Zma ofEfda (1) Emotional  expressions  are
Bt &1 maodified by learning.
(2) Ha it B B (2) Emotions are permanent.
(3) W% WA A uF e g A R (3) Every emotion is accompanied by
a feeling.
(4) @ a@ T § omE A ®y (4) Emotions are aroused by external
stimuli.

Level-3/162 P.T.O.



. T R & A R

(1) AFRTE F=enedl # G Hewy
i U |

(2) =i Faernedt @ fafire e
T O &

(3) =TT el #t Rt freEr
T QI B

(4) AR Pl # o W erRe
BT T FE

. e ¥ @men 7 wet wosEd
Rl 4| TR B

(1) Fam =

(2) - &
(3) wi-\igt &
(4) wfeEl &

. Be Ao gl & g = @ Rem
Frar 1 e &, A e

(1) AT g6 b# T T
(2) & I 9 A= HT
(3) wer Akl i FEtE g
(4) ﬁ-%ﬂmﬂﬂﬂﬁﬁﬁl

. T R @i § 3 draan e
Fior fofte #e § wergw B, o B

(1) o S TE e

(2) SF ey, v, geisT o
P Fevemer |

(3) FB T T S PR

(4) wifrar % Rftgt &1 e F0m)
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4,

6.

g@cher
ad

Inclusive education means
(1) Meeting individual differences in
general classroom.

(2) Meeting individual differences in
different classroom.

Meeting individual differences in
special schools.

Meeting individual differences in
home based instruction.

(3)

(4)

In adolescence behaviour and attitude
are affected mostly by

(1) Teacher
{2) Parents
{(3) Peer Groups
(4) Films

Maral velugs* ean be effectively
inculcated among the students when

ently talks about values.
If practices them.

(3) Tells stories of good persons.
(4) Talks of Gods and Goddesses.

Critical thinking helps a person in
developing abilities and skills for

(1)
(2)

providing concrete experiences.

proper interpretation, analysis,

evaluation and inference.

and constructing

()

creating
something,

(4) thinking about ways of reacting.



8. afwEd o FEwE @0 BT A

a9Er ¥ gaaw B g
(1) W=l (2) T
(3) TemEmSE  (4) FEERTE

9. Preffan ¥ & A RerEen
A B B o e 98 e 7

(1) 7 T T ® UF G §E
g

(2) faodm fim & ofy e &M
(3) & dEd & wrf 5 @

(4) fafere it & feam @

10. oF PR &9 @@ B & I SO
0 @ @ feree, 59 REm @
T &

(1) FATFI HFE
(2) TammeE e
(3) T SR

(4) & forren wé B

11, T SraE qEET Rt §

(1) 9% 9 |
(2) T ® RBen s |

(3) @ ge (F9d) g @
(4) TR T F A
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(5)

ad

10.

11.

A

Best method of dealing with adolescent
by parents and teachers is

(1) Autoeratic (Z) Permissive
(3) Democratic (4) Restrictive

Which of the following is net a
characteristic of social development in
adolescence ?

(1) Active member of their peer
group

(2) Being an attraction towards
opposite sex

(3) High decrease in friendly
relationship

(4) Extension of special interests

An adoleseent u=fs herfhis left hand
for performing act like taking food or
iting, this is developed due to

ited behaviour
lopmental behaviour
(3) Wrong behaviour
(4) All options are right

Discaleulia is a problem related to the
problem of

(1)
(2)

Speaking accurately

Writing  without committing

mistakes

(3)
(4)

Listening message properly

Doing mathematical calculations

P.T.O.



12,

13.

14.

15.

(6)

‘W AN @NE g (CCE) @
R B

(1) #9 9% i TR B g
A |

(2) P % 70 o W\ i B
(3) a9 B & S F GEET FEN
(4) B0 B F T F THE T

P § & A gome
# R (dae) 787 7

(1) fEEma
(2) e

(3) Ry
(4) T

e

it e & o &

(1) m%mﬂﬁ%mqﬁaﬂa

(2) T a1 farerr fafeed & oftedr
(3) TEHIR F GRS |

(4) SRy & T B

want & R B gy A 7

(1) 9= & 99 & T
(2) SoEmEen & e

(3) FrairmEen & 3w
(4) FgEFEEn & 4

Level-3/162

i

12. Continuous

13.

15.

and  Comprehensive
Evaluation (CCE) aims to evaluate

(1) The reasoning of child only.

(2) All aspects of development of
child.

(3) The knowledge of child only.
(4) The understanding of child only.

Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Onginality
(3) Accuracy

(4) Novelty

F arning outcomes means

}ange ) &l belfviour of the
ent.,

(2) Change in teaching method of the
teacher.

(3) Recognization of the

matter.
{4) Completion of content.

subject-

Diffeventintion of emotions takes
place at the time of

(1) Birth of child

{2) During infancy

(3} During the period of adolescence
(4) During adulthood



16. T # s RRE B 0 B A
Prefafas & @ 9@ oEEE 399
TR 7
(1) T draEiel @ A e ae |

(@) I g ol anl Sw S0
A =R |

(3) ¥ Rl (Few) #F 3 =T
(4) TR dfad F Tk

17. Freirf & wm, Rdw =9 & SwmmEt
fraird & o w8 F0 999 B I

TR ?

(1) AAETAE JIH

(2) WA= I9H

(3) Hufed I

(4) amael IarH

i G Sewy 9 &
fde T &

(1) e F A A

18.

(2) T & amiE A |
(3) TF & qmies s
(4) TwF & wighE BEm

19. UF o @ENE B oo g § frerl
& AFEN AEEE ¢, TS

(1) 68 FFIRE T TET A wEEE
firemelt &1

(2) UggaE] # MEF TN O werE
forerit %1

(3) TEHAR] F W aO® 4 wome d
werar Mo B

(4) TER |99 # T=d el B
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(7)

16.

17.

18.

19.

A

Which of the following provision is
suitable to meet individual
differences among learners ?

(1) Their abilities should be assessed.

(2) Adequate facilities and material
should be provided.

(3) Labelling them.
(4) Making Individualisation necessary.

not

Working with adolescents,
particularly maladjusted one, which is
not appropriate 7

(1) Critical approach

(2) Democratic approach

{(3) Collective approach

(4) ldeal approach

Heredity plays most impartant role in
the

(1) Emotional development of the

ild
a 'd d al development of the child

ical development of the child
(4) Cultural development of the child

The knowledge of principles of

learning is must for a good teacher,

because

(1) It helps in maintaining discipline.

2 It
interesting.

helps to make content

{3) It helps to understand the content

by simple methods.

It saves time.

(4)

P.T.O.



20.

21.

22,

23.

(8)

TS s & et # Prefafes §
& -t Bl 787 & 7

(1) Peaeiar  (2) T

@) (4) =T

Fiffvadl sanew @t Freffes & @
Hr-a s ¥ 7

(1) BB a0 W@ # W g,
Pt P ol oo frepdl o

AT FE |
(2) o g, aebifes ol oof &)

(3) =E: ofrefiE s e @
AT HE B
(4) B ‘FE’' I H awed ¥

ﬁﬂﬁlﬁﬁﬂﬁﬂ?mﬂwaﬁm
mmmmwm

P & 7

(1) #Iged i Fram a
(2) 3 &

(3) T % Fr

(4) W 1 Fram

farst & oga awm @i AP @
s W A e A s &
irg & o B, 98 R Prefaie §
H B9 oy ¥ S 7

(1) Shoefts B orafy
(2) 9 PFaers omary

(3) H-PrareTs arafy

(4) = e ermfy
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20.

21,

dda

23.

Which of the following characteristic is
not correct about objective type testing ?
(1) Reliability (2) Objectivity

(3) Validity (4) Subjectivity
Which of the following is the
characteristics of  constructivist
classroom 7

(1) Students design experiments,
draws conclusions and compare
their findings.

(2) Knowledge is objective, universal
and complete.

{(3) Teacher transmits authoritative
knowledge to students.

(4) Students lock for the
answer,

'right'

22. Which of the foliowing is the primary

law of learning propounded by
ke 2

of analogy

(2) Law of exercise

{3) Law of assimilation

(4) Law of disposition

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period
(2Z) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period



(9) A

24, UF AEE T GOAEEHA F @I AEA ¢, 24. A child is average on creativity, high
IFEE ITEE 39 & a9’ in academic achievement, poor in
e 1 W T 3‘, T FEET B social development. This is an

example of
(1) 3T dafEs T (1) Inter individual differences
(2) 0 RS = (2) Intra individual differences
(3) YofFs s (3) Individual differences
{4y 9T A Jafes = {4) Measurable individual differences

25, 95 AFE AFEE 290 o0 B SERR 95. That internal state of mind that
FoAeq FA, el FA a9 0 arouses, directs and maintains
@ g F §, FeAR & behaviour is called as
(1) s (1) Interest
(2) e (2) Opinion
(3) AR (3) Attitude
(4) sIfpren (4) Motivation

26. B IR L B A T 26, (Some people adjust easily with new
& o/ & Fifs o 3= people because they have high
(1) 3z afEr (1.Q.) & & ) Intelligence Quotient (1.Q.).

(2) s wier (AQ.) &t B a ]adamiﬂ Quotient (A.Q.).
(3) wafE 7Y (B.Q.) Bt & (3) Emotional Quotient (E.Q.).
(4) smenferE @fer (5.Q.) Bk B (4) Spiritual Quotient (5.Q.).

27, T amrEe: FCH 9E A a6 AT 27. Development ﬁanera]ly proceeds from

B &, Rwg # 9% Rrera Feen @ head to foot, this principle of
development is called

(1) Fausd & wHFaEE (1) Bilateral to unilateral

(2) Al (= § 9 # AN) (2) Proximodistal

(3) | & Rifdre (3) General to specific

(4) FrEE (4) Cephalo Caudal

Level-3/162 . 7T.0.
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28. UF BE S ot % fao R oftey
W R T R T I w s
O T HETEEEE 3 @ aw e b
o o 2

(1) SIIF oo

(2) & S

(3) TRty S

(4) =i For 4w dom

29. SprEdl Bfem a3 ey
Frfefed & & & 597 gk ae

(1) #& s #1 draael, ayaet
A aiftrm 9 F1 o= T B

(2) 9& =NV, IEEET AN @ 3
el T &9 EmE

(3 T& FHGFE G ST F O
A 97 99 397 2

(4) TE  STIWEST- AT, HEE-
TUEG-AAE  qu geei- e
Sreft fafet @ oA e B

3. 4 Bl A waEr T swr o
el T T=f # =mr @ T
Fed & 7

(1) B

(2) Grem
(3) ST

(4) 9=

(10)

28. A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation
(2) Extrinsic motivation
(3) Mathematical motivation

{(4) Intrinsic and extrinsic motivation

29. Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's
capabilities, capacities  and
learning styles.

(2) It stresses the importance of
enquiry, observation and
investization,

(3) It emphasises transmitting

knowledge to the learner by the
her,
Wlfa aﬂa methods like experiential

learning, problem solving, concept
mapping and creative writing.

30. A child's attitude 'I do not care' is a
type of behaviour which can be
called

(1) Aggreasion
(2) Defence
(3) Denial

(4) Retrogression

Level-3/162
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- I/PART - II

A -1 (<) / LANGUAGE - 1 (HINDI)

R : Pt gedt @ ot 7 % fv gad afvg e gl
31. e BEeT F wEEh 36. ‘o g7 om @ H of gen Wy =
(1) Peafta = B + FE 76 919 B §E I &
(2) FEAER = GE6 + 91 (1) HAH e
(3 gfi=®g + & (2) BRI [E
{4}€F|F’IT!I:€F|T+?H¥I {Bjﬂﬁiﬂw
82, ‘a9 § B8 5ET W 7 (4) YT A
eV (2) 87, ‘Frem S sffyEed = & o q gan
{E)E‘l {4}@41[ ﬂ’—%ﬁﬁﬂﬁﬁ%
83. ‘g¥ frm W euen o oA - @ g (b ¥3
T = I (2) FAA
(1) SHE (3) o e
(2) S e
' 38, zla: qh ﬁ
(4) SR 8, o ﬁatn
34, ‘S G aon i & e =
& fom o o=
(1) giea (2) Fe
(2) aAfETE (3) @9
(3) it (4) T
A
" 39. fm um ¥ & o WO g W
35. o7 o=t & @ A9 = w7 g ?
(1) = (1) el
(2) FEEmg (2) |l
(3) wEET (3) T
(4) o (4)
Level-3/162 P.T.O.




40,

41.

42,

43,

44.

@ owm g E o oA A
owfeE 97 i Ff

(1) gt
(2) "M 0T

(3) o= 1A

(4) wiEE g

ZILTE I R i A o
(1) =7

(2) AEEES 5

(3) Fdror

(4) g&m

- 0 O A 7@ R 7
(1) #Es

(2) fafsrEm=

(3) =M

(4) Tafirg

T g # 7et g &
() T5+7

@ T5 + &

(3) T6 + 5@

9 T +a

Ay’ g7 7 T @9 e am
(1) i + gev

@ A + dw

@) AT + @

(4) R + g
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(12)

46. Tl #1 ‘% A am 1 gfte § &

(1) STEqHT-HeY
(2) WEMT-HEy
(3) SEIHTIT-37HT
(4) FETII-37EY

46. 'TAET 9= A I9gE G9E # e

HE

(1) ol wegew
(2) eirar wgen
(3) 9=t egen
(1) ST Ty

47, 9 T W T 4T W eFE, 7 o

77 1@ 7 dw, awe - S @
o w2t ard #1 =99 Fifw

(1) "ewg & o P fEe
@) 7,8, T & B wa o ¥
(3) ST aRel @ & 0w

% T § GH A
addas’

() g
(2) g
(3) wwiE
(4) few

49. e P 5 g

(1) md-armd

(2) SqHT-HTUT
(3) Tfie-Ffier
(4) aor-mEey



50.

Ell

52.

63.

b4.

‘R’ R W W O e T

(1)

(2) Wt

(3) afE

(4) &=l

g TH AN tr fem
o & o o 9= F FE HL

(1) #:

(13)

frder : Freafafee TEny @ 9eFT 96 9T AT
7 73 g (e g 56 | 60) & FuY T -

ad § T & gde e difem @

(2) &= T 3 afEAd o g 9 FEOd '
(3) TIF Hﬁﬂ?ﬁﬂﬁﬂ%ﬂ%l%mﬂﬁfmﬁ
o5 ¥t A o & A fo @ GO A 6
: e ws ¥ ol gat w oA ey ¥
Fra o 3 Flaed @ @ W T | g & e we A dde A g d R R
g e’ dre @ aiy g wg § Rl § 9§ A
(1) #E F e I T
(2) A A T 3 T A weE @ A
(3) e Par & 7% 6 Gy o SEie Sl ARgE
(@) FaET sttt 4l Fan BCARdm e @ 0%
WER] A % &9 A Wied [ o 8
S gt A e @ ER 7 7E o @1 o ¥ FE e
. o A g e
¥ wfeaelt # whwm A W
@ P o & @ @ T A B 3RE A
(4) & & W ¥ weER @ g few @ 7 9

fom o= & Rt | & s 7@ gem
27

(1) aAUER

(2) farram

(3) yAREE
(4) e

Level-3/162

aof =pgen @ Ay R B 3 = T A
drz od @ P Frm fFeE wen w1 R
mEEM €EE & B9 § AR o #iT HerdE
e 3 giefmgs ofgeen & g T
R T P den g2 W@t RBde W @
¥ 7 Ui wd o @ A gen @ R
HAI-TRIEET W Bl WG S e Jomel
o e &9 T MY e w BT g e

Pi Tl DI
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mmﬁﬂﬁﬁﬁﬁﬁﬁﬂﬁﬂﬁaﬂﬁgm
Tl O iy § 7= T 8 ey @ Ay
W R ome ol g7 wer ot & &2
el & od T W A Wi 7w B

ﬁ&wmmﬁmﬁﬁmm
% =9 @ g T

& qT @ W o @ g ¥ o
Wﬂaﬁaﬁ@mmmﬁaﬁraﬂjﬁ
& ® o Al R @ e e 3
T sREREd $ AgER (Eie wW o
T I W T e 3 et w5 de
o\ SEEH ol ofme @ @ e
W TR F T W g A s
aond R g P it e o o

T 7 wh B ol 9 gm sem
T w A & s gE w1
e B % el ol it aeefe o
weha @ @ ) Wi 9§ s
wd WREFT A G G G B pet §
31 BN @ difE Bew 99 W W a
FE ol et 5t e 7 won & o g
dfeF o & o @ B B ag am
T B g S A g
Al e ¥ oty od o ad 98 & B waw
® BiF H e A @

56. WIEY HAW i fadmen &
(1) 9 TwEE
(2) T e
(3) W90 F A ftar
(4) i g o ¥

(14)

57.

58,

60,

LiGE 9= et & -

(i) EFEE T %

(i) 7EME A9RE &

(iii) &vf sy 3

(iv) e fwas oftwegsr 3
3| o e 9 g :
(1) () o (iv)

(2) (i) T (iv)

(3) Fa (i)

(4) e (i)

R & s Jome # aEEe R
(1) @@ (2) gt 3
@) FIH-H = | 4) S 3

ddaz

(3) =grET
(4) wfem w2

W= W § e fem b
(1) sy

(2) TG ] TR

(3) owi & Feut § @ weW
(4) =Y A R

Level-3/162
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HMT - III/PART - 111

AT - 11 (HF5H)/LANGUAGE - 11 (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.

61.

62,

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch).
(1) am being watched

(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above
sentence indicates

(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is
given :

Copi.......... = Plentiful

(1) ous

(2) some

- (3} ose

(4) ful

Level-3/162

64,

65,

66.

'l don't enjoy poing to the dentist)

The word 'going' in the above

sentence is a/an

(1) Present participle
(2) Infinitive

(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of
the given sentence

Mother said, "Don't go to the park.”
(1) Mother asked us not to go to the

parks

(2) Mother told us not to go to the
park.

addﬂﬂm YT I F—.
k.

(4) Mother said to us to not to go to
the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off vour perch

() be off your trolley

{4) on cloud nine

P.T.O.



67.

68,

(16)

Choose  the correct  passive
construction of the sentence :
Auctioneers will sell the painting at
auction,

(1) The painting would be sold at

auction.

{(2) The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at
auction,

(4) The painting will be selling at

auetion.

Identify the figure of speech in the

following sentence :

I must be cruel, only to be kind.

(1) Epigram
(2) Paradox a

(3) Analogy

(4) Metaphor

Which of the following words is mis-
spelt ?

(1) incongruous
(2) chronological

(3) synchronus

(4) sympathetic

Level-3/162

Direction : (Q. Nos. 70 to 74) : Select the
sentence that is grammatically correet :

70. (1) My brother is the student in
Mayo College.

{(2) My brother is student of Mayo
College.

(3) My brother is a student in the
Mayo College.

(4) My brother i a student in Mayo
College,
71, (1) Neither of them were present

there!

(2) Neither of them was present

am‘ of them present there.

(4) Neither of them are present
there,
72. (1) The roses smell sweet.
{2) The roses smell sweetly.
(3) The roses are smelling sweetly.

{4) The roses are sweetly smelling.



(17) A

73. (1) You certainly did not ought to do 76 Choose the correct direct speech of
it. the given reported speech :

He said I'd better go because it was late.
(2) You certainly ought not to have

(1) He said, "You'd better go because

done it.
it's late."
{3) You certainly did not ought to (2) He said, "I'd better go because it
have done it. was late."

(3) He said, "You'd better be gone

i ht not to h
(4) You certainly ought no e because it was late.”

been done it.

{4) He said, "You'd better go because
it late."

74. (1) Who was the book given to ? i

e Was given i

correctly ?
(3) The book was given to who 7 () Pediatrician
(2) Padritician
{(4) Whom was the book given to ? .
itrician
trician

76. Choose the correct phonetic

transcription of the word 'Locate’
78. In which of the following sentences do

we need to insert the definite article

(1) fuket/
‘the’ ?
(@) MNokeit/ (1) They are all busy growing things.
(2) We do not generally speak of
(3) Nou'keit/ farmers 'growing animals',
(3) Why do people work ?
(4) Nauket/

(4) They are different from rest.

Level-3/162 P.T.O.
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79. Which of the ﬁ}]]umg sentences 18 Direction : fq— Nos, 81 to 55) : Read the
correct ? following passage and answer the questions

by choosing most appropriate option :

(1) My father's foot was put down
when I said I wanted a car for my

" Common sense is a rare and enviable
quality. It may be truly said that ‘its price is

seventeenth birthday. He said I above rubies’. How many learned men, how
was too young. many wits, how many geniuses, how many
dull and ignorant people, how many cunning
(2) My father down put the foot when knaves, how many well-meaning fools are
I said I wanted a car for my without it | How few have it, how little do
seventeenth birthday. He said I they or others know of it, except from the
am too young. infalliable results — for one of its first
s requisites is the utter absence of all

(3) My father put his foot down when Pl
I said I wanted a car for my The vulgar laugh at the pedant and
seventeenth birthday. He said | enthusiast for the want of it, while they
was t0o young. themeelves mistake bigotry and narrow
minded notions for it. It is not one of the
(4) All options are wrong sciences, but has been well pronounced to be
' the seven' It is a kind of
80. Sinﬂﬂfﬂ“mmtthﬂre.linﬂa i J that feels the air of truth
wsasigs with vour adsber. and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
The underlined group of words in the we cannot pronounce on what we do not
above sentence is a/an know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
(1) Noun Clause art or science seems to destroy that native

simplicity and to warp and trammel the
(2) Adverb Clause of place unbiased freedom of mind which is
necessary to its receiving and giving their
(3) Adverb Clause of time due weight to ordinary and casual

(4) Adverb Clause of reason impressions,

Level-3/162
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#1. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

B2, What iz not a requisite of common

sense 7

(1) the utter absence of all
pretension

{2) bigotry and narrow minded
notions

(3) truth and propriety

(4) an unbiased freedom of mind

83. Which of the following is met stated
by the writer in the passage ? a

(1) Affectation

BEMBEL.

destroya common

the
utmost simplicity and sincerity.

(2) Common sense reguires

(3) Common sense feels the air of
truth and propriety as the fingers
feel objects of touch.

{4) Common the
native gimplicity and warps and
trammels the freedom of mind.

Level-3/162

sense destroys

A

84. Fill in the blank with the
appropriate word :

maost

Common has been well

pronounced to be ‘fairly worth the

Bense

(1) Notions
(2) Sciences
(3) Talents

(4 Wits

85. Which is not a synonym of the word
‘pedant' ?
(1) dogmatist
(2) formalist
(1) pertectioniat
(#) down-to-earth
., Nos. ﬂﬁﬁDﬂﬁ]:Fﬂfin the

blanks with the most suitable option :

|1 H— child should learn to read and

(1) All

(2) Every
(3) Whele
(4) Both

P.T. 0.
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87. Can I ask your ........., do you think 89. Take some medicine and the pain will
TV violence is harmful ? go
(1) opinion (1) back
@) favour )
(3) out
(3) guestion
(4) away
(4) advice
90. The walkers finally arrived at their
88. Where is my wallet ? I leftit ............. destination. They ............. all day, and
the kitchen table. ! they certainly needed a rest. They ......
thirty miles,
(1) at
(1) had been walking; had walked
(2) in

(2) had-walhe&; had been walking

(3) on d skad: walkad
(4) by a ve been walking; had walked

Level-3/162
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HE - IV/PART -1V

3sft  ENGLISH

Direction : Answer the following questions by selecting the most appropriate option.

1.

a2,

94.

Besides "The Canterbury Tales' which
of the following is written by Geoffrey
Chaucer, the greatest English poet of
the Middle Ages ?

(1) The House of Fame

(2) Piers Plowman

(3) The Beke of Margery Kempe

{4) All options are wrong

The Argumentative Indian is written
by

(1) Girish Karnad

(2) Amartya Sen

(3) V.8 Naipaul

(4) Vikram Seth

Give the synonym for the word
‘provingial'

) magional

(2) regional

(3) metropolitan

(4) All options are wrong

Oedipus Complex is

(1) a kind of physical ailment

{(2) akind of vitamin

(3) a brother's attraction towards his
sister

(4) a son's attraction towards his
mother

Level-3/162
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95,

97.

Identify the figure of speech in "The

ploughman homeward plods his

weary way"

(1) Transferred Epithet
(2) Assonance

(3) Oxymoron

(4) Synecdoche

Identify the clause in the given
sentence :

'Darjeeling, which is located in the
Eastern Himalayas, is a beautiful hill

gtation.'
(1) Noun clause
2) Adverb clause
fining Relative clause
{4) Non-defining Relative clause

Which of the following sentences is
incorrect ?

(1) He provided the blind with food.
{(2) The boy who does best he will get

a prize,

(3) 1 went for a walk with some
friends.

(4) This article costs ten rupees.

P.T.0.



98. 'There is an undeniable adroitness in
his economic plan.'
Choose the opposite of

underlined word

the

(1) expertise
(2) dexterity
{3) incompetence
(4) ingenuity

99. Which of the following sixteenth-
century works of English Literature
was translated into the English

language after its first publication in

Latin 7

(1) Christopher Marlowe's Doctor
Faustus

(2) William - Shakespeare's  King
Lear

(3) Thomas More's Utapia
(4) Thomas More's The History

King Richard IIT
100. What is Milton's stated purpose in

'Paradise Lost 7

(1) To assert his superiority to other
poets

(2) To argue agajnlat the doctrine of
predestination

(3) To justify the ways of God to men

(4) To make his story hard to
understand

Level-3/162
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Direction : (Q. Nos. 101 to 108) : Read the

following extract from a famous English

poem and answer the questions given below :

It little profits that an idle king,

By this still hearth, among these barren
crags,

Matched with an aged wife, I mete and dole

Unequal laws unto a savage race,

That hoard, and sleep, and feed, and know

not me.

I cannot rest from travel ; T will drink

Life to the lees ; all times I have enjoyed
Greatly, have suffered greatly, both with those
That loved me, and alone : on shore, and when
Through scudding drifts the rainy Hyades
Vexed the dim sea : | am become a name ;
For always roaming with a hungry heart
Mueh have | seen and.krown : cities of men
And manners, climates, councils, povernments,
ot least, but honoured of them all ;
ight of battle with my peers,
ging plains of windy Troy.
I am a part of all that 1 have met :

Yet all experience is an arch where through
Gleams that untravelled world, whose

margin fades

For ever and for ever when [ move.

How dull it is to pause, to make an end,
To rust unburnished, not to shine in use!
As though to breathe were life. Life piled on life
Were all too little, of

Little remains; but every hour is saved

and one to me

From the eternal silence; something more,



(23)
A bringer of new things ; and vile it were
For some three suns to store and hoard myself,
And this gray spirit yearning in desire
To follow knowledge, like a sinking star,
Beyond the utmost bound of human thought.

101. The above lines are an extract from
(1) Robert Browning's ‘My Last
Duchess'

(2) Mathew Arnold's 'The Scholar
Gipsy'

(3) Alfred Lord Tennyson's 'Ulysses’
(4) Rupert Brooke's ‘The Soldier’

102. The poem is in the form of a

{1) Monologue
(2) Lyric

(3) Elegy
(4) Ode

103. The character depicted in the pmu:a
the character of

(1) a man, who is satisfied with the
inactivity and stability of his life.

(2) a man, who is ready to settle
down and is looking forward to a
peaceful life.

(3) a restless man, impatient to
resume his travels and his
inguiry.

(4) an exhausted man, who no
longers wants a life of adventure,
challenge and excitement.

Level-3/162

104.

105.

106.

107.

A

The first five lines of the poem
suggest that the speaker

{1) likes to be an idle king

(2) likes to sit arcound the still
hearth with his wife

(3) likes to mete and dole unequal
laws unto a savage race

{4) feels uneasy being an idle king
Identify the language device used in
the following :

"Far on the ringing plains of windy
Troy,"

(1) onomatopoeia

(2) metaphor

(3) personification

(4) alliteration

Identify the language device used in
the following :

et all experience is an arch where
Gleams = that  untravelled

) nance
(2) metaphor
(3) euphemism
(4) alliteration
Identify the language device used in
the following :

" een. @very hour saved From the
eternal silence."

{1} euphemism
(2) alliteration
(3) assonance
{4) metaphor

P.T.0.
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108, The

109.

1140.

above
representative of

given poem is
(1) the metaphysical style which
endeavoured to  bring two

different objects together and
identify a point of similarity.

the rich artistic creativity of the
Elizabethan age.

(2)

(3) the Romantic age where the poet
was left free to choose his own

form and subject-matter.

(4) the Victorian spirit of inquiry,
always eager, always on the
move to explore the expanding

horizons of knowledge.

Arundhati Roy's first novel, The God
of Small Things won the prestigious
literary award 'Booker Prize' in the
year

(1) 1994 (2) 1995
{(3) 1996 (4) 1997
are  unrelated

words which share the same
pronunciation and spelling, but have
different meanings.

(1) Homologous

(2) Homonyms

(3) Homogeneous

(4) All options are wrong

Level-3/162
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111I

112.

113.

115.

Let'a dance, ......cooviiiiiiivinn: ?
(1) shall we

(2) will you

(3) won't you

(4) All options are wrong

Which of the following is a collection
of Anita Desai's short stories ?

(1) Voices in the City

(2) Games at Twilight

(3) Village by the Sea

(4) Cry, the Peacock

Who is
Purple'?
(1) Alice Walker
(2} Wirginia Woolf
(3) Jean Rhys

the author of "The Color

) Ayn Rand
a dl la]Slm Rising' by John Donne,
f ‘the following adjectives is

used to describe the sun ?

(1) Saucy

{2} Pedantic

(3) Busy

(4) All options are right

The words 'hobble', 'swagger’, "trudge’
and 'waddle’ refer to a manner of

(2) drinking

{4) writing

(1) eating
{(3) walking
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116. Which of the following odes is by 120. Choose the correct p;msiva
John Dryden ? construction of the following sentence :
(1) Alexander's Feast "The municipality will launch a

@ Od Grecian U cleanliness campaign in the city.'
e on a Grecian Urn

(3) The Progress of Poesy (1) A cleanliness campaign is going

to be launched soon in the city.
(4) Ode to Psyche (2) A cleanliness campaign is to be

117. 'My brother enjoys playing hockey.' launched by the municipality in

The underlined word in the above the city.

sentence is afan (3) A cleanliness campaign will be
launched by the municipality in

(1) Present participle tha city.

(2) Infinitive (4) The municipality will be

(3) Gerund launching a cleanliness

(&) Finite form campaign in the city.

121. rWhic.h. poets * eollaborated on the

118. A statement that tradi
statemen seems contradictory ‘Lyrical Ballads' of 1798, thus

on the surface but often expresses a

S K . Ifmnu'ltratmg the 'spirit of the age',
a an era of revolutionary
(1) Motif , dépénded on a belief in the
(2) Paradox limitless possibilities of the poetic
imagination 7
(3) Pun il
(4) Symbol (1) Mary Wollstonecraft and William
Blake

119. Which of the following is written by (2) Charles Lamb and William
Girish Karnad ? Hazlitt
(1) Saerifice ' (8) William Wordsworth and Samuel
(2) Ghalhiram Kotwal Taylor Coleridge
(3) Hayavadana (4) Dorothy Wordsworth and Percy
{(4) Final Solutions Byashe Shelley

Level-3/162 P.T.O.



122,

123.

124,

N . i the repetition of
similar auunda, usually consonants,
at the beginning of words.

(1) Assonance

(2Z) Allusion

(3) Alliteration

(4) Onomatopoeia

‘My uncle is an army -::haf.:'

The underlined word in i;he above

sentence is a/an
(1) Noun

@ Adjective
(3) Adverb

(4) Conjunction
'The Rape of the Lock' by Alexander
Pope is a

(1) ballad

(2) mock-heroic narrative poem

3 parody

(4) heroic poem

Level-3/162
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125.

126.

127.

There was a teacher named Ms. Brass
Whao was blessed with an unruly class

They slept and snored

And completely ignored

Theorems like Pythagoras.

The above lines are an example of a
(1) Lyric

(2) Limerick

(3) Haiku

(4) Allegory

Which of the following words is not
apalt correctly 7

{1) accomodation

adda-

(3) smitten

(4) wooden

He is a Sahitya Akademi Award
winner and he loves to write for
children. Who is he ?

(1) R. K Narayvan
(2) Manohar Malgaonkar
(3) Ruskin Bond

(4) Upamanyu Chatterjee
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128. Which of the following plays was not 132. Early in the morning we packed our
authored by Shakespeare 7 bagh and ..o for a hike
over the mountain.
(1) Othello
(2) Velpone (1) setup
(3) The Tempest 2) set of
(4) King Lear
(3) setoff
129, 'The Rime of the Ancient Mariner' is a :
poem written in the form of (4) setin
1) ballad
N 133, Which of the following was described
(2) sonnet by its author as a "Comic epic poem
(3) heroic couplet in prose” ?
() Spenserian giggsa (1) Fielding Joseph Andrews
130. In 'The Tragic History of Doctor _ L
Faustus', EBCoNEA his soulll (2) 'Swift's Gilliver's Travels
the devil for the right to use the ) Richardson's Pamela
Devil's power at will for a
(1) as long as he lived i Fuelfpa
(2) twenty-four years
134. 'We consider India fiome.'
(3) two score and four years :
Th derlined word in the abow
(4) the last quarter of his life span B REETR W A
1 sentence is afan
131. He wanted to take a short walk
because he .........cceeeveveee.o. all day., (1) Direct object
(1) sat (2) Indirect object
(2) was sitting .
- (3) Subject complement
3) had sat
(4) had besn aitting {4) Object complement
Level-8/162 P.T.0,
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135.

136.

137.

'Captain Bluntschli' is a‘character in
which play by George Bernard Shaw ?

(1) Man and Superman
(2) Arms and the Man
(3) The Man of Destiny
(4) Major Barbara

Choose the correct indirect speech of
the following sentence :

The old lady said, "The young man

who has just gone out is my son.”

(1) The old lady said that the young
man who had just gone out was
her son.

The old lady informed that the
young man who just went out
was her son.

The old lady told us that

(2)

(3)

is her son.

The old lady said that the young

man going out was her son.

(4)

'Circumstances' proved propitious'.

Choose another word for the
underlined word in the above
sentence

(1) favourable
(2) inauspicious
(3) inopportune
(4) dubious

Level-3/162
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138,

139,

140.

Whose great English 'Dictionary’,
published in 1755, included more
than fifteen hundred illustrations
and 114,000 quotations 7

(1) Ben Jonson
(2) Jonathan Swift
(3) James Boswell

(4) Samuel Johnson

Who is the author of the novels The
Sword and the Sickle and Private
Life of an Indian Prince ?

1) MulkRaj Anand

i
y R. K. Narayan
ddaz=

(4) Bhabani Bhattacharya

Identify the literary device in :
‘The road was a ribbon of light.'
(1) Simile

(2) Metaphor

{3) Hyperbole

(4) All options are wrong



141.

142,

143.

Which of the following best describes
the by which writers
received financial remuneration for
their literary production ?

syat.éma

(1) benefaction
{2) censorship
(3) patronage
(4) pressmanship

In the novel 'Guide' we come across a
dancer. What is her name ?

(1) Daisy
(2) Bharati
(3) Rosie
(4) Savitri

Rabindranath Tagore's
'Chandalika’ deseribes

play

the deliverance which the child
discovers in death

(1)

{2) the angst of an untouchable

woman
the
individual soul

the hypocrisies plaguing the
Indian middle class

(3) spiritual quest of an

(4)

Level-3/162
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144.

144,

1486.

147.

A

Which of the following is not a comedy
by William Shakespeare 7

(1) Merry Wives of Windsor
(2) Taming of the Shrew
(3) As You Like It
(4) Every Man in his Humour
Which of the following is not a
synonym of 'sycophant' 7
(1) flatterer
(2) ; IDhEE‘I'.]IﬂDuEI
(3) groveller
(4) eritic
Who wofi | the “Nobel Prize' for
Literature in 2013 ?
Daris Lessing
[arald Pinter
(3) Alice Munro
(4) Toni Morrison

The corporation's decision to reduce

the leave of the employees
........................ a lot of opposition.

(1) came up against

(2) came across

(3) ecame in

(4) came down

A o R
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148. William Wordsworth, a romantic poet, 149. Saki is the pen name of
advocated all the following except (1) Gabriel Garcia Marquez
(2) Anees Jung
(1) the using of everyday language (3) William Somerset Maugham
gpoken by the common people.

(4) Hector Hugh Munro

(2) the expression of ihe 150. The expression 'a ghost of a chance'

spontaneous overflow of powerful .
feelings. (1) something that is likely to
happen
(3) the humble and rustic life as (2) a poor chance, not likely to
subject-matter. _ happen
(3) something or somebody that
(4) elegant wordings and inflated spoils your plans
figures of speech. (4) a place deserted by most people

adda

Level-3/162
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B. Answers to questions in answer sheetare to be given

by darkening complete circle using Black /Blue ball point
pen as shown below :

O e 0 ®
g:ﬁm:wﬂlbehmbdmﬂit‘smarhed,as
© ® ©® &

If you fill more than one circle it will be treated as a
wrong answer,
7. Rough work should be done only in the s rovided
in the Test Booklet for the same, e

8. The answers are to be recorded on the OMR Answer
Sheet only. Mark your responses carefully. No whitener
{white fluid) is allowed for changing answers.

9. Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened

completely with Blue/Black Ball Point Pen on the OMR

Answer Sﬁeet. The answer once marked is not allowed to
be changed.

10. The candidates should ensure that the Answer Sheet js
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet,

11. Handle the Test Booklet and Answer Sheet with care, as
under no circumstances {except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

12, The candidates will write the correct Number as given in
the Test Booldet/ Answer Sheet in the Attendanee Sheet.

13, Candidates are not allowed 10 carry any textual material,

printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Cardgnside the examination hall/ room.

special | pe
dent or Invigilator, should leave his/her seat.

16. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case, Female candidates have to affix right hand Hrumb
impression therens male candidates have to affix hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

17. Use of Electronic/Manual Calculator is prohibited.

18. The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

19. No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

20. On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall,
The candidates are allowed to take away this Test
Baoklet with them.
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